Solution File Assignment #  3
MTH603 (Spring 2011)

             Total marks: 10

             Lecture # 23-28   

             Due date: 11-6-2011                                                                 

 DON’T MISS THESE Important instructions:
· Upload assignments properly through LMS only, (No Assignment will be accepted through email).

· All students are directed to use the font and style of text as is used in this document.
· In order to attempt this assignment you should have full command on 
      Lecture # 01 to Lecture # 08.
· This is an individual assignment, not group assignment, so keep in mind that you are supposed to submit your own, self made & different assignment even if you discuss the questions with your class fellows. All similar assignments (even with some meaningless modifications) will be awarded zero marks and no excuse will be accepted. This is your responsibility to keep your assignment safe from others. 
· Above all instructions are for all assignments so may not be mentioned in future.

· There are 3 questions in the assignment but only one question will be graded. However we are not mentioning that which question will be graded so you have to provide the solution of all 3 questions. 
· Solve the assignment on MS word document and upload your word (.doc) files only. Do not solve the assignment on MS excel. If we get any assignment on MS excel or any format other than word file then it will not be graded. 

· Assignments through e-mail are not acceptable after due date (If there is any    problem in submitting your assignment through LMS, you can send your solution file through email with in due date). You are advised to upload your assignment at least two days before Due date.
Question#1                                                                                            Marks 10
Find an equation of a cubic curve which passes through the points 

(4,-43), (7, 83), (9,327) and (12, 1053) using Divided Difference Formula. 
Solution:
Newton’s divided difference table is

	X
	Y
	1st D.D
	2nd  D.D
	3rd D.D

	4
	-43
	
	
	

	7
	83
	42
	
	

	9
	327
	122
	16
	

	12
	1053
	242
	24
	1
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Question#2                                                                                             Marks 10
Find interpolation polynomial by Lagrange’s Formula, with the help of following table,

	x
	1
	2
	3
	5

	f(x)
	0
	7
	26
	124


And hence find value of f (6).
Solution:
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Question#3                                                                                             Marks 10

Find 
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ff

 from the following table,

	x
	1.3
	1.6
	1.9
	2.2
	2.5

	f(x)
	2.4
	2.9
	3.2
	4.7
	6.4


Solution:
Since x=2.5 occur at the end of the table, it is appropriate to use the backward difference formula for the derivation.

Backward difference table is as
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	1.3
	2.4
	
	
	
	

	1.6
	2.9
	0.5
	
	
	

	1.9
	3.2
	0.3
	-0.2
	
	

	2.2
	4.7
	1.5
	1.2
	1.4
	

	2.5
	6.4
	1.7
	0.2
	-1
	-2.4
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